Time Allowed : 3 Hours

New Style MODEL TEST PAPER—8

CLASS—XII (H.P.)
CHEMISTRY

Maximum Marks : 60

Special Instructions : Same as in Model Test Paper—1.
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The coordination number in hcp structure 1s :

(a) 12 (b) 4

(c) 8 (d) 6.
Galvanized iron sheets are coated with :

(@) Copper (b) Nickel
(c) Zinc (d) Carbon.

Which of the following does not affect the rate of reaction :

(a) Temperature

(b) Concentration of reactants

(c) AH of reaction

(d) Catalyst.
The chemical reactions in which reactants require high amount of activation energy
are generally :

(a) Slow (b) Fast

(¢) Instantaneous (d) Spontaneous.

How many coulombs of electricity are required for the Oxidation of 1 mole of H,O to
0O, ?

(@) 9.65 x 10%C (b) 4.825 % 10° C

() 1.93x10°C (d) 1.93 x 10* C.

Which of the following solutions has the highest equivalent conductance ?
(@) 0.01 M Na(Cl (b) 0.05 M Na(Cl

(c) 0.005 M NaC(Cl (d) 0.02 M NaCl.

Define molecularity of a reaction.
What are F-Centres ? |
What are o and 7t ligands ?
Define antifreeze.
Write the reactions and conditions involved in the following conversions ?
(/) Acetic acid into ethyl alcohol o
(ii) Cumene 1nto phenol.
(a) Define crystal field splitting energy.
(b) Write the shape of Fe (CO)s molecule.
Give the mechanism of Sy reaction. |
Explain the reactions occurring in the blast furnace during the extraction of iron from
haematite ore. L ' AN o,
Arrange ammonia, ethyl amine and aniline in decreasing order of basic nature and
justify. o 4 Fieay
Distinguish between soaps and detérgents. i o ¥
Distinguish between calcination and roasting. _
At elevated temperatures, HI decomposes according to the ‘chemical equation :
2HI (g) — H, () + 1, (&) | |
at 443K. The rate of the reaction increases with concentration of HI, as shown in the
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E o Determine (i) order of this reaction and (ii) write the rate exor X 107

.0 Calculate the rate constant and give its units, | P e
Or

(a) Distinguish between temperature co-efficient and velocity co-efficient
(b) Explain the effect of temperature on the rate constant of a reaction |

: Explain the following terms with suitable examples :

(i) Ferrimagnetism
(i) n-type semiconductor
(ii1) Forbidden zone. -
dissolved in water is 4.34 X 10* atm at 25°C. If

The Henry law constant for oxygen
0.2 atm. under ordinary atmospheric conditions,

w' = ’ L L]
the partial pressure of oxygen 1n air 18
calculate the concentration (in moles per litre) of dissolved oxygen in water In

equilibrium with air at 25°C.
y. Write chemical tests tO distinguish between the following pair of compounds
COOH
(@ () o
and
CH,CHO o
(11) “and CH,COCHj.

) Give one example of Clemmensen's reduction.

(@) Give reasons for the following : -
(i) The basic strength of aliphatic amines in solu

tert > primary- ;
primary | Jing point than hydrocarbons having alm

tion is of the order of sec >
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(@) Mechanism of heterogeneous catalysis

() Hardy Schulze Rule
(€) Tyndall effeet:
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How would you purlfy amines from non-basic 1mpurmes ? .
What product 1s obtained, when benzene is treated with mtratmg mlxture Give

mechanism of reaction.

How will you distinguish between RNO, and

R-O-N=0?7 '

Why boiling point of Me,N is lower than bmlmg point of C H-,NH2 s
Or

What are the conditions for diazotisation and coupling reaction ? Give equations.

Out of amlno benzene and CZHS NHq, Wthh has lower pr Value and Why 7
Idenufy A, B, C and D.in the followmg reaction.

(1) CHC13 + NaOH Bri (CS,) A
(i) Dil. HCl 213K
CD“C HNO3

Give the Zwitter ion structure of sulphanilic acid.
In a dry cell, write the following :
(i) The chemical equations involved at the cathode.

(i) Change 1n the oxidation state of Mn.

(iii) The complex entity formed between Zn?* (ag) and NH, (g).
In a hydrogen—oxygen fuel cell, write the reactions involved at the anode and
the cathode. ‘
How will the value of E__, change in an electrochemical cell involving the
following reaction, if the concentration of Ag™ (aq) is increased ?

Mg (s) + 2Ag* (ag) — Mg?* (aq) + Ag (s).




